
Math 131A MT
Wilson Jusuf

TOTAL POINTS

64 / 90

QUESTION 1

Problem 1 20 pts

1.1 Part (a) 2 / 2

✓ - 0 pts Correct

   - 2 pts Incorrect

   - 1 pts Blank

1.2 Part (b) 1 / 2

   - 0 pts Correct

   - 2 pts Incorrect

✓ - 1 pts Blank

1.3 Part (c) 1 / 2

   - 0 pts Correct

   - 2 pts Incorrect

✓ - 1 pts Blank

1.4 Part (d) 2 / 2

✓ - 0 pts Correct

   - 2 pts Incorrect

   - 1 pts Blank

1.5 Part (e) 2 / 2

✓ - 0 pts Correct

   - 2 pts Incorrect

   - 1 pts Blank

1.6 Part (f) 2 / 2

✓ - 0 pts Correct

   - 2 pts Incorrect

   - 1 pts Blank

1.7 Part (g) 2 / 2

✓ - 0 pts Correct

   - 2 pts Incorrect

   - 1 pts Blank

1.8 Part (h) 0 / 2

   - 0 pts Correct

✓ - 2 pts Incorrect

   - 1 pts Blank

1.9 Part (i) 2 / 2

✓ - 0 pts Correct

   - 2 pts Incorrect

   - 1 pts Blank

1.10 Part (j) 0 / 2

   - 0 pts Correct

✓ - 2 pts Incorrect

   - 1 pts Blank

QUESTION 2

Problem 2 15 pts

2.1 Part (a) 5 / 5

✓ - 0 pts Correct

   - 5 pts Incorrect

   - 3 pts Error

   - 2 pts Error

2.2 Part (b) 5 / 5

✓ - 0 pts Correct

   - 2 pts Error

   - 3 pts Error

2.3 Part (c) 4 / 5

   - 0 pts Correct

✓ - 1 pts Minor Error

   - 2 pts Error

   - 4 pts Serious error



   - 5 pts Incorrect

   - 3 pts Error

Need to make argument more rigorous.

Specifically: prove that (a_n) is increasing.

QUESTION 3

Problem 3 20 pts

3.1 Part (a) 5 / 5

✓ - 0 pts Correct

   - 1.5 pts Only considered natural k

   - 3 pts Misunderstood question

   - 5 pts No solution submitted for Problem 3 Part (a)

   - 2 pts Errors

3.2 Part (b) 5 / 5

✓ - 0 pts Correct

   - 3 pts Did not specify construction

   - 1 pts error

3.3 Part (c) 2 / 5

   - 0 pts Correct

   - 0 pts Ok

   - 2 pts Error

✓ - 3 pts Incorrect

3.4 Part (d) 2 / 5

   - 0 pts Correct

   - 5 pts Incorrect/Blank

   - 3 pts Misunderstood question

   - 2 pts Incorrect

✓ - 3 pts Incorrect

We aren't using decimal expansions in this

class.

QUESTION 4

Problem 4 10 pts

4.1 Part (a) 5 / 5

✓ - 0 pts Correct

   - 3 pts Quantifier Error

   - 1 pts vague quantifiers

   - 2 pts Unclear quantifiers

   - 4 pts Need to state definition

4.2 Part (b) 2 / 5

   - 0 pts Correct

   - 1 pts Minor error

✓ - 3 pts Error

   - 4 pts Serious error

   - 5 pts Incorrect/Blank

This is generally sloppy ("It cannot be negative

due to absolute value"). Furthermore, there's no

reason for the infimum of a set to be

represented in that set (for ex, the set of 1/n for

all natural N has infimum 0, but 0 is not 1/n for

any natural n), and this means the crucial step in

your proof is unjustified.

QUESTION 5

Problem 5 10 pts

5.1 Part (a) 2 / 5

   - 0 pts Correct

✓ - 2 pts Stated the test assuming the limit of the

ratio/root exists

✓ - 0.5 pts Did not note that the test implies absolute

convergence, not just convergence (waived if only

considered positive sequences)

   - 1 pts In the convergent case, did not say that the

ratio/root needs to be less than an \alpha, which is

itself less than 1, for all but finitely many terms, and

instead said that the ratio/root simply needs to be

less than 1 for all but finitely many terms

   - 0.5 pts Did not correctly state for what values of

the index n the condition given in the convergent

case must hold

   - 1 pts Stated the condition on the general terms of

the series in the convergent case without any

statement on what values of the index n the condition

must hold for

   - 0.5 pts Did not correctly state for what values of



the index n the condition given in the divergent case

must hold

   - 1 pts Stated the condition on the general terms of

the series in the divergent case without any

statement on what values of the index n the condition

must hold for

   - 0.5 pts Said that the sequence, rather than the

series, converges/diverges.

   - 5 pts Incorrect/Blank

- 0.5 Point adjustment

If the limit is 1, the test is inconclusive, so the

inequality in your last statement should not be

strict (-0.5pt).

5.2 Part (b) 1 / 5

   - 0 pts Correct

   - 2 pts Error in dealing with (n/(n+1))^n

✓ - 4 pts Only one convergent value is correctly

justified

   - 1.5 pts Substantial errors in the divergent cases

   - 3 pts Both divergent cases are incorrect

   - 5 pts Incorrect / Blank

QUESTION 6

Problem 6 15 pts

6.1 Part (a) 5 / 5

✓ - 0 pts Correct

   - 5 pts No solution provided for Problem 6 Part (a)

   - 2 pts Incomplete proof

   - 3 pts Invalid argument

   - 1 pts error

6.2 Part (b) 5 / 5

✓ - 0 pts Correct

   - 5 pts No solution submitted for Problem 6 Part (b)

   - 1 pts Need to prove by induction

6.3 Part (c) 2 / 5

   - 0 pts Correct

   - 5 pts Incorrect with no explanation

✓ - 3 pts Incorrect, the series diverges

   - 5 pts No solution provided for Problem 6 Part (c)
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